A 1102 &R (112 )F

pﬂtﬁp 33 -_L i

i~ iR
- NFTH R KT R S10E R AA MENS
CRT AR AT FTAKTE
B
- AR A RFTARTEERS
F SRS E CEV SRR EEIE ST 553
CAPEE I ATH D R

BEIRAYHEE

[

R TR (R 02 WY AL LR B e R 2
T 1S o
1. ~#A2(Scratch 4= 1 2 :&rF )33 1102 5/18(FFF) 2 5/26 GEFF )P #c > F © 4
Yol b EA B2 B VP FAREERE S0 GRERHES S 2)

2. TEABMEFUFH AR BERBE T 0 FERF - 4 Sk

?{r

N

A% o
Ion - SRECEF o D (ERARp IR o

AR =R A YA SR S AC &kt
B i dR E SN gD AT Y R SR L o

L IRYPHAEBRENT J—mp\ﬁ SR T L

BE| Ay pY PRI N 2 i s % g
10#11" 10P | @i 428 %= Scratch Gi=F%)

¥ ERY 2 2 P

1 (—:— ) (P eh i 7y P ST ek E) ? . [ F%‘?’( 40
—H‘B % béﬂ; (4B wmmp)

13:00~16:00 (3] p¥) * i3 "

HO0#112 17TP | Mg 428 F = Scratch GGEF#)
bt B R

2 (=) (ke my s SOt k) . 40
TP ZEE | (2B E®RP)
13:00~16:00 (3 %) F -

110#11" 24P | @i 428 = Scratch (% F%)
3 (=) (F3Rp B Y P ST KR E)
13:00~16:00 (3 )

TER® TP i3
¥ oL BRI 40
B

Ep2EEF | %

)




i
L PRAE R3] %
CHEF 2 iR B

dakd ET B R MERR D

TR @]%
JESC 3 JLaNt Rl S g

A \ 4—}&5533

% 348 Scratch f§§ 4 ¢
&ﬁ@ﬁ&ﬁaaﬁﬁiﬁa¢
o B R B A IREE AR KL

LA o T DA

NI =24 sga ?ﬁcﬁ.—‘l"_ ~ iR

= 15 e
¥ i & ¥ % ¥ Scratch &

FRAHRELT 5

z

i ’E% /J %’L‘o
’E% /J %’L‘o

TRy

KRN S 3

R o

W

TARE

—\1\

RS

# g Tz ®/P

RS SN 15

) ﬁ:;;z@ AR ;u;g%

IS 1 %t:r:u P%%i"ls *%{-J

' e & PP

T AE R DT

AR

R

LR R

A Bt

R A

Scratch f € ad

Scratch i & # 5 &

WA AR T A

 AA#HF 8+ A Scratch %8 1+ 2 %&

- =
& g i

=

B (RN 157/47\

Q&A

*d 1
EAEE | &
0.5 ] P
1]
PR A
KPR FE
1] p* g4
0.5 FF




LN v id
FYiE &% % 0 % Scratch § i % (552 WY | HEF

P L ERFE | R

Scratch Rk § 4R 2 1 g~ ~ n

N 0.5 ] p*

Scratch 3 & R et g~ f AfL ~ & AT S

PGHER - FLEI)D B PR E)Z 0.5 P | 3R |36

FEEB (B E tiner- % )2 F % X b 2RV - E R
4

Scratch i = BlAz;ViEH L aprh ~ > & 0.5 | T2

Z ot ' ‘

Scratch 2 38V & 589 (T Y 1] P

FiroFrgx QRA 0.5 ] p*

B f& AR

FYRe&$d o fhe? B ¥ Scratch 314385 L ‘a2 BT
7R R R

B BRREE | #R
FrRREZ2ZEE_L 2L RENY
1] p
Scratch K46 » # 52 2.9 BT R \ s
cratc $! Sz
R TSR G NCTE TR s
1.5/ | # A~ 4
Scratch 2 4& » # B2 2 F BIF R =N el
Fire@LeE QQA 2 Scratch = ~#=F 2 2 0.5 B
haFE(RE AFYRFT ) ' ‘




